#RAUH 7% (5 5 R BIR)

AN 4 AF I OB TE B B I SO

MEBE T S BB TR BV B AT SR BIEE 8 ¥ 1 HICHE D&, TRLD LB Y 1 4 F B
EEE N IR HEL2RHLET,

AT £
= Ik 4
(A PaES
EE AR K4

S5 4H 250

T Z M T B 1%
A ARMERT D=

X B\ B I

[ I EE I E

1 WA
s E 4 i =

A2 i & 2,040, 000 | 85,000 [ X2 4 X 12 » H
5 2 f 10 | FEAF]E

i 2, 040, 010

2 Xt
B H % & A fii =

o A 7% 1 34, 340 | 1T ECIH 22
i & % 0 0
Jis piN % 0 0
Jis I % 0 0
PG - BRI IS B & 0 0
= i % 0 0
g Rk 1F ok & 0 0
a Ok W OAN & 13 223,024 | EEE. B FE
wmoF E W ' 12 44,508 | i ¥ 7 L v MRARIEEE
O O F OB B 1,862 | = &°— HHEIL
A 1 % 0
= B g & 0

# 28 303, 734

3 IR

2,040,010 1 —303, 734 =1, 736, 276 [

() BT, E-2XHONRELET D,




